SAP ABAP table RIWOL OPR {Internal Table Object List Processing with Operation Assgmt}

EQSE
RIWOL OPR-EQSNR = EQS’E—FQSNR 0-N | MANDT [CLNT (3)]

—_

-7 EQSNR [CHAR (18)]

e EQUI
.-~ RIWOL OPR-EQUNR = EQUI-EQUNR _ o N | MANDT [CLNT (3)]
K P EQUNR [CHAR (18)]
// _-7 -
/ _ -
/ - ILOA

/ -~ RIWOL OPR-ILOAN = ILOA-ILOAN 0N [LENET [CLNT (3)]
_--T T " | ILOAN [CHAR (12)]

-7 MARA
MANDT [CLNT (3)]
MATNR [CHAR (18)]

—_— -
—_——
—

—_—

—_—

QMEL
01 = e MANDT [CLNT (3)]
QMNUM [CHAR (12)]

T - SEROO

-
-~

0..N -~ -
. _RIWOL_OPR-MANDT = T000-MANDT  1_N [vmereryay

T~ OBKNR [INT4 (10)]

R T000

_—
T

RIWOL OPR-IWERK = T399I-IWERK 0..N MANDT [CLNT (3)]

\ N T399I
N T T e—-—-_____ MANDT [CLNT (3)]

i _ _ ] 0.N
RIWOL_OPR-QMART = TQ80-QMART IWERK [CHAR (4)]

T~ TQS0
Tte-o_____ | MANDT [CLNT (3)]
QMART [CHAR (2)]




